Math in English

Brain Teasers level 4 #21
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What is the missing number

in this puzzle ?

21131 4
4116118
2113116
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Which 2 numbers are missing here ?
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Which letter completes

the pattern ?
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M:thin English Brain Teasers level 4 #21

Answer to brain teasers

puzzlel: C
Each row of dice adds up to 14.

puzzle2: 9
The 2nd row is 2 times the 1st row, and the 3rd row 2 times the 1st.

puzzle3: G
The numbers and letters follow a +1,+2,+3,+4, etc pattern.

puzzle4: 4and6
Arrow up is multiplying, and arrow down dividing.
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